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1,592,635 1,597,235 24,600
S M (LI SHE/LBHT) 992,373 986,930 5,443
S el 558,073 552,630 5,443
EZES A 87,388 77,736 9,652
201 Le+=2| 11,882 12,230 A348
01 At22teld] 3,132 3,480 A\348
OZ2LXE S ZHILXH(0AEZ)
23 1,500,000& 1,500 1,800 A300
O34 AA2B(EHASE ) (04t
z22) Z& 1,632,000 1,632 1,680 A48
401 AlEHIYL SO 10,000 0 10,000
01 AlZHI 10,000 0 10,000
Otllel HAERE S5t HE*
10,000,000& * 14 10,000 0 10,000
QIXEXIDIBH2 S} 167,951 172,160 N4,209
201 Le+2gH| 2,200 3,000 2800
03 AL2EH] 2,200 3,000 2800
OZHNSK SH HAHESAY 22 (0IAEZ)
2& 2,200,000 2,200 3,000 A800
301 LEt2d =S 162, 151 165,560 A3,409
09 HAIMHIXIE = 11,351 14,760 A3,409
OXHZHEAl 22040 B4 & FAHI(0lAHEZ)
Z& 1,895,000& 1,895 3,600 21,705
OZHNSX S 02 nIEY SE(CIMEZ)
23 1,896,000 1,896 3,600 A1,704
HH2AHHI(ZI1E) (DIEHIIE 600, 262 610,305 210,043
2| 159,571 169,614 210,043
=34l 159,571 169,614 210,043
202 04l 70,875 78,750 AT7,875
01 =LHALI 70,875 78,750 NT7,875
OZtUAbI (ol aHE2Y) 23 68,125,000 68,125 72,000 N3,875
Ozt oI (ol aHE2Y) d3 2,750,000& 2,750 6,750 24,000
203 B2 &I 11,340 12,600 1,260
01 J|22gge=a| 5,940 6,600 2660
OSZ JI2U2GLRFTHI (0 AHEY)
Z& 5,940,000& 5,940 6,600 2660
02 B IRHFRFLH| 1,080 1,200 A120
OF MG R=TH| (0l AHE2))
Z& 1,080,000 1,080 1,200 A120
04 EMEgg 24 4,320 4,800 2480
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S - T BRI(SH) - HIRAR - BES il ko gL HIDS2
ORN2YSRFAHI(0larE2)
2& 4,320,000 4,320 4,800 2480
405 XHHH S 6,592 7,500 A908
01 IRILSEFSHI 6,592 7,500 2908
OFX=AD| 2L (0llArE2)
Z2& 6,592,000 6,592 7,500 2908






